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Econ 520 F11
Homework 3
10/4, 10/6, due 10/7
For full credit, show your calculation and give a numerical answer 
on each computational question.

1.  (10 homework points)  What is the present discounted value of $1000.00, payable in 8 years and not indexed for inflation, if the real interest rate is 4.00% and the nominal interest rate is 6.00%?  (Assume annual compounding and give your answer to the nearest cent.  Not all information is necessarily used.)  Show your calculation.
2.  (10 homework points)   If the present discounted value of $1000.00, payable in 8 years and indexed for inflation from today’s date, is $567.89, what is the real interest rate?  (Assume annual compounding, and give your answer to the nearest basis point, ie to the nearest .01%)  Show your calculation.
3.  (10 homework points)  What is the present value of a perpetual income stream of $8000 per year, indexed for inflation from today’s date, if the real interest rate is 4% and the nominal interest rate is 8%?  (Not all information is necessarily used.)  Show your calculation. 
4.  (10 HW points)  If a coupon bond has a maturity of 20 years and a duration of 15 years, and its yield rises from 4% to 5%, what is the approximate percentage change in its present value?   (Not all information is necesarily used.) 

5.  (15 homework points).

a) Write the Fisher Equation, relating the nominal interest rate i, the real interest rate r, and expected (or anticipated) inflation (e:

b)  If the 5-year nominal interest rate is 0.96%, while the market expects 3.76% annual inflation (the average of the last 12 months) to continue for the next 5 years, what would be the 5-year real interest rate, according to the Fisher Equation?  Show your calculation.
c)  Last week, the nominal interest rate on 5-year dollar-denominated Treasury bonds was in fact 0.96%, while the real rate was -0.58% on 5-year inflation-indexed TIPS.  What inflation did the market expect for the next 5 years, according to the Fisher Equation?  Show your calculation.

6  (10 HW points)  

An increase in households’ desire to save rather than consume will tend to (circle one):


i) shift the demand for credit to the right and reduce real interest rates


ii) shift the demand for credit to the left and raise real interest rates


iii)  shift the supply of credit to the right and reduce real interest rates


iv)  shift the supply of credit to the left and raise real interest rates


v)  leave real interest rates unchanged.

7   (15 homework points)  

a) Write the Dynamic Form of the Quantity Equation, in terms of rates of change in the nominal money stock M, real income y, the price level P, and (income) velocity V.

b) If during one year the nominal money stock grows by 7%, real income grows by 2%, and income velocity falls by 3%, what is inflation?:

c)  If during the coming year real income is expected to grow by 2%, and income velocity is expected to fall by 3%, what rate of growth of the nominal money stock is required for zero inflation?

8  (10 HW points)   

a)  What is the most likely effect of Mandatory price ceilings (as were imposed during World War II and the later part of the Vietnam War period, 1971-1974)?  (Circle one)


i)   Markets clear while inflation and deflation are prevented.


ii)   Supply exceeds demand at the controlled prices, leading to surplusses.  


iii)  Demand exceeds supply at the controlled prices, leading to shortages.  

b)  This is called Suppressed ______________.

9  (10 HW points)   An increase in nominal interest rates tends to make 

a)  Velocity                     (rise)   (fall)  (remain unchanged)    [circle one]  

b)  Real Money demand (rise)   (fall)   (remain unchanged)   [circle one]  

10  (10 HW points)  Self-generating inflation is most likely when   [choose one]  

i)   expected inflation responds slowly to observed inflation and money demand responds weakly to nominal interest rates.

ii)   expected inflation responds quickly to observed inflation and money demand responds weakly to nominal interest rates.

iii)  expected inflation responds slowly to observed inflation and money demand responds strongly to nominal interest rates.

iv)  expected inflation responds quickly to observed inflation and money demand responds strongly to nominal interest rates.

v)  none of the above – self-generating inflation is a theoretical impossibility with fiat money.  

Return after class 10/6, at your recitation, or to your TA’s mailbox outside Arps 410 by 5:00 PM Friday 10/7.  Partial credit will be given for late homework.  (70% for 1 class late, 50% if in by last class of quarter.)  Cooperation on homeworks is permitted and even encouraged.  However,  you must complete, understand, and sign your own homework.

